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1. & ball rofls off 2 hovizeatal bl 1.0m high ond strikes the Qoer 0300 feom the edee of the
Lihle (= 9.8 ma). Draw a sketch.
1. How long did the ball €al] befores 1t struck the Moar? (2 poanes)
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b, Wilh whol speed (bodzoatally) did die ball leave the table'f (2 points)
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2. A jel Nebrer flving ar 300 mds makes a hendramtal tum ot consland speed. The pilot has
instmctions not to exeezed 2% mest. What w8 the mintmum radios of s tum? 03 pointz)
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A, A projocrile 1s fired from your ship™s pun al an initial speed of vy, at au angle of 8, with the
horizomeal, What sty the expressiene {eyuations) for the nidal x and ¥ compongirts of the
vizloeily veolor? Draw a sketch, (1 point)
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Fxtra Ceedit: What Rhedes Seholar and Boliula Gills quactetback o the mid 19647 entered
politics after foothdl, sorving fivsl in the honse and then on the prasident’s cabinwes?
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